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F R | saessr| mee | ues Ezifnj% mamEg | DL, B HEX M SRE &) PR, %%if;;;g gﬁzeﬁxk E;jii BEIE | Em omn | BRIEX ﬁﬂ:\%%fé

ERI6FETFEL 98.8| 100.3 98. 4 X - - - - - - - - - - - -

17 100.0; 100.0; 100.0f 100.0( 100.0{ 100.0{ 100.0; 100.0 - - - -1 100.0{ 100.0 100.0 -

18 103. 5 99.3] 108.5| 104.3 95.6| 104.2| 103.1 94.6 - - - - 97.4f 105.1 107.9 -

19 107.2 94.0/ 117.4( 108.3 82.0/ 111.0{ 106.0 86. 8 - - = - 91.8| 116.9 121. 4 -

20 108. 2 83.7| 123.7 97.4 86.7| 117.4] 106.2 84.2 - - = = 83.8| 125.3 116. 4 -

21 102. 1 14.6] 106.6 19.8 14.4) 114.6] 106.5 18.9 - - - - 17.2] 128.1 94.7 -

22 100. 2 710.9( 103.7 90.8 80.2| 114.1} 103.7 14.2 - - - - 12.6( 122.2 87.0 -

23 99. 6 10.5( 101.4 89.2 83.0] 117.6] 102.4 18.4 - - - - 1.7 123.5 88. 7 -

Ep23%F 1 H| 100.1 71.5] 102.3 89.2 81.0] 116.3] 103.7 13.6 - - - - 13.0f 122.9 86.5 -

2 A 99.3 71.9] 100.9 88. 1 81.2] 116.3| 103.1 13.6 - - = - 12.8| 121.7 90.0 -

3 H 08. 8 70.3] 101.1 817.8 81.2] 117.6] 103.8 12.9 - - = - 65.9] 118.6 87.6 -

4 | 100.0 13.1] 102.3 86.5 81.5| 118.4] 103.7 18.9 - - - - 11.3] 121.6 88.9 -

5H| 100.5 12.3] 103.4 39.6 82.1] 118.9] 102.9 18.9 - - - - 12.2( 125.2 90.3 -

6 A| 100.4 70.1] 103.8 89.6 81.9] 118.8] 103.3 80.4 - - - - 12. 4| 124.3 89.9 -

7 A 99.7 69.1 101.1 89.8 81.5] 119.0] 102.5 80. 7 - - - - 12.3| 124.5 89.4 -

8 A 99. 8 68.3| 100.2 87.4 81.7| 118.8] 102.3 81.4 - - = - 12.2| 124.5 89.6 -

9 R 98.9 68.8| 101.1 90. 7 81.7] 116.7 99. 6 19.8 - - - - 12.0] 124.7 89.3 =

10R 98.4 68.4 98.3 90.3 86.7| 117.0 99.9 19.1 - - - - 11.8] 124.3 89.8 -

118 99.4 70.9] 101.2 90. 7/ 86.9| 116.7] 100.9 80.9 - - - - 12.0{ 124.8 87.1 -

128 99.9 71.5] 100.8 90.4 88.0| 116.4] 102.5 80.8 - - - - 12.7 124.8 86.4 -
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ERI6FETFEL 97.4| 100.6 97.1 X - - - - - - - - - - - -

17 100.0; 100.0] 100.0f 100.0( 100.0{ 100.0{ 100.0; 100.0 - - - -1 100.0{ 100.0 100.0 -

18 103. 6 94. 3| 110.9 97.7 94.4f 101.5] 104.1 91.2 - - - - 96.1| 103.7 106. 4 -

19 109.3( 105.0{ 119.1 94.7 79.7] 108.3| 108.9 84.1 - - - - 88.9( 114.2 107. 4 -

20 112.3] 100.0| 127.4 91. 1 88.11 112.9] 113.8 19.8 - - = - 79.0{ 118.8 X -

21 105. 3 87.6/ 111.0 X 70.7| 107.5( 118.8 14.9 - - - - 66.9| 124.8 X -

22 104. 2 87.9] 109.0 X 81.2| 108.9] 116.3 13.0 - - - - 61.5] 121.3 95.5 -

23 102. 5 82.9] 106.4 X 84.0 107.9] 111.2 14.9 - - - - 99.8] 123.3 54.8 -

Ep23%F 1 H| 102.8 87.3| 105.4 X 79.7( 109.6] 116.2 12.2 - - - - 62.2| 120.2 54.4 -

2A/H| 100.8 84.7| 103.6 X 80.0] 109.6] 113.0 12.2 - - = - 61.8| 119.6 06. 3 -

3A| 100.1 83.3| 103.0 X 79.9] 107.5] 112.5 12.2 - - = - 01.2] 118.9 23.8 -

48 102.0 86.0 105.3 X 83.0{ 108.8] 110.7 14.1 - - - - 60.3| 120.4 93.5 -

5H| 103.3 83.3| 107.2 X 83.9] 108.2] 111.3 14.17 - - - - 60.2| 125.6 95. 7 -

6 Al 103.4 83.2| 107.3 X 84.5| 107.6] 111.5 16. 7 - - - - 60.5] 125.3 95. 1 -

7R| 103.5 83.1] 107.8 X 83.2| 107.8] 112.0 11.4 - - = - 60.3| 125.2 04. 4 -

8AH| 103.0 80.4| 106.9 X 82.8| 107.6| 112.0 16.0 - - = = 60. 1] 125.2 o4.7 -

9H| 102.5 80.4| 108.2 X 82.8| 107.0{ 107.3 16.5 - - - - 60.3| 125.4 95. 1 =

10R| 101.9 80.5[ 105.1 X 89.3] 107.3] 107.4 15.2 - - - - 60.1| 124.9 95. 1 -

11A| 103.1 81.9/ 108.9 X 89.6| 106.9| 109.0 16.0 - - - - 60.3| 124.8 95. 1 -

12R| 103.2 80.5| 108.3 X 89.7( 106.5| 111.6 15.9 - - - - 60.6| 124.4 o4. 1] -




